
Fischio Pneumatico Omologato
(Tromba per imbarcazioni da 12m a 20m)

Approved Pneumatic Whistle
(Marine horns for vessels between 12m to 20m in length)

0
1
/0

4
/1

6
  
R

e
v.

0
4

        ©                     S.p.A.

150 004 13 - PW2-2BC  24V

150 004 12 - PW2-2BC  12V



        ©                     S.p.A.



I TE N G

Avvisatore sonoro omologato, completo di trombe cromate ø200mm e , valvola elettrica e accessori  ø180mm
di MCA e BUREAU VERITAS in accordo alle montaggio. Omologazione RINA, LLOYD’S REGISTER  
norme internazionali COLREG 1972 IMO classe IV, NMMA  ABYC  A-23

Approved signalling whistle complete with chrome plated horn ø200mm and , electric valve and ø180mm
mounting accessories. Meets COLREG 1972 IMO class IV regulations.  
Approvals:  RINA, LLOYD’S REGISTER MCA and BUREAU VERITAS,  NMMA  ABYC  A-23

     1. Montare le trombe inclinandole leggermente verso il basso (5°) per evitare il 
ristagno d'acqua all'interno del cono;

2. Collegare le trombe alla sorgente d’aria compressa attraverso il tubo Rilsan, utilizzando gli accessori 
del kit come da schema allegato;

3. Collegare i cavi elettrici alle elettrovalvole;
4. Collegare il pulsante di azionamento in serie al cavo rosso; 
5. Collegare l'estremo del cavo rosso al polo positivo della batteria (+) e l'estremo del cavo nero al 

polo negativo della batteria (-).
1. Install the horns angled slightly downward (5°) in order to avoid the water stagnation within 

the cone;
2. Connect the horn to the air compressed source by the Rilsan pipe utilizing the accessorizes of 

the kit, see the layout attached; 
3. Connect red and black cable to the electric valves; 
4. Connect in series the service switch to the red cable; 
5. Connect the extreme part of the red cable to the positive pole of the battery (+) and the extreme part 

of the black cable to the negative pole of the battery (-).

DATI TECNICI / TECHNICAL DATA

ISTRUZIONI PER L'INSTALLAZIONE DEL FISCHIO / INSTALLING INSTRUCTION OF THE WHISTLE

DESCRIZIONE DEL PRODOTTO / PRODUCT DESCRIPTION

DATI TECNICI ELETTRICI / ELECTRICAL TECHNICAL DATA

RISOLUZIONE DI PROBLEMI / PROBLEM RESOLUTIONS

Nel caso di mancato funzionamento del sistema procedere come segue :
Piccoli corpi solidi possono arrivare alle membrane bloccandone i   l funzionamento.  In tal caso bisogna
smontare la tromba, pulire le membrane, e rimontare il tutto.

In the case of a system malfunction proceed as follows :
Impurities can reach the membrane blocking the normal performance of the whistle. In this case dismantle 
the horn, clean the membranes and re-assemble.

                        
Fischio Pneumatico 

 
                                      

Pneumatic Whistle
 

                                             

Tromba Nautica per imbarcazioni da 12m a 20m

 
                                        

Marine horns for vessels between 12m to 20m in length

 
 

 

2
Sezioni cavi del pulsante di azionamento: 1,5 mm   fino a 20 m.

2
Cables section of service switch: 1,5 mm  for connections up to 20 m.

3
        ©                     S.p.A.

Codice/Code

150 004 12 (12 V)

150 004 13 (24 V)

PW2-2BC
150 004 13 24

TYPE CODE V

220 / 315 385 x 600 x 207 1

dB (1/3 OCT.)(1m) Hz DIMENSIONS (mm) PCS PER CARTON

126
150 004 12 12



I T E N G

SCHEMA DI COLLEGAMENTO / CONNECTION LAYOUT

TAPPETO IN GOMMA / RUBBER CARPET

22

 

 
foro per passaggio vite M5

5,5

 

foro per passaggio tubo aria

8

42

5,5 foro per
 

passaggio vite M5

3

8  
 

 
 

foro

 
per

 
passaggio

 

cavi elettrovalvola

F

Ø 5 5 HOLE OR SCREW M5

,

H
E

OR
CRE

Ø 5,5
 

OL
 

F
 S

W M
5

8 H

C R C
L E

S

Ø 

 

OLE FOR ELE T I VA V  WIRE Ø 8 HOLE OR

 

IR

 

SE

F
A HO

+

-

BATTERIA 24V
BATTERY 24V

PULSANTE
BUTTON

TUBO RILSAN øest 8 mm
                         øint 6 mm

COLLEGAMENTO
ALL’ARIA 
COMPRESSA

RILSAN PIPE øout 8 mm
                       øin 6 mm

COMPRESSED AIR
CONNECTION

4
        ©                     S.p.A.



I TE N G

ESPLOSO / EXPLODED VIEW

1 2 3 4 5

6 9 7

8

10

11

16

12

13

14

15

17

18

20

23

22

21

19

2425

26

28 29

30

27

32

31

33

34

27

Pos. Q.tà Descrizione

1 1 CORNETTO

2 1 O-RING

3 1 GUSCIO FRONTALE BLITZ

4 1 GHIERA

5 2 GRANO

6 1 O-RING

7 1 BASE INFERIORE BLITZ

8 1 MEMBRANA

9 1 BASE SUPERIORE BLITZ

10 6 VITE

11 1 DISCO

12 1 O-RING

13 1 NIPPLO

14 1 FORCELLA BLITZ

15 3 MOLLA

16 1 O-RING

17 3 VITE M5X25

18 1 VITE M5X30

19 1 TAPPETO BLITZ

20 1 GUSCIO POSTERIORE BLITZ

21 2 RONDELLA

22 2 VITE

23 2 RONDELLA

24 2 DADO

25 1 ANELLO

26 1 COPERCHIO

27 1 GANCIO

28 1 GRANO

29 1 SOSTEGNO

30 1 O-RING

31 1 O-RING

32 2 VITE

33 1 ELETTROVALVOLA

34 1 DADO

Pos. Q.ty Description

1 1 TRUMPET

2 1 O-RING

3 1 FRONT LID

4 1 LOCK NUT

5 2 DOWEL

6 1 O-RING

7 1 BACK LID

8 1 MEMBRANE

9 1 FRONT LID

10 6 SCREW

11 1 DISC

12 1 O-RING

13 1 NIPPLE

14 1 FORK BLITZ

15 3 SPRING

16 1 O-RING

17 3 SCREW M5X25

18 1 SCREW M5X30

19 1 CARPET

20 1 BACK LID

21 2 WASHER

22 2 SCREW

23 2 WASHER

24 2 NUT

25 1 RING

26 1 COVER HOOK

27 1 INOX HOOK

28 1 SECURITY DOWEL

29 1 SUPPORT HOOK

30 1 O-RING

31 1 O-RING

32 2 SCREW

33 1 ELECTRIC VALVE

34 1 NUT

5
        ©                     S.p.A.



I T E N G

1. Forare il piano di appoggio (14) della tromba utilizzando il tappeto in gomma (11) come dima;
2. Svitare le tre viti M5x25 (1) e la vite M5x30 (2);
3. Togliere il guscio posteriore (3);
4. Estrarre le tre molle (5);
5. Sfilare delicatamente la cartuccia (6) infilando un cacciavite tra il guscio che la contiene (8) e la 

cartuccia stessa, facendo leva nel punto “C” (Tab.1);
6. Appoggiare il tappeto in gomma (11) sul piano di appoggio (14);
7. Appoggiare il guscio anteriore (8) sul tappeto in gomma (11);
8. Fissare il guscio anteriore completo di tromba (8) sul piano di appoggio (14) con le viti M5 (9) 

complete di rondelle elastiche (10) e bloccarlo tramite i dadi autobloccanti (13) preceduti dalle 
rondelle (12);

9. Infilare dal basso il tubo rilsan nell' apposito foro (A) e nel dado (15), calzarlo sulla 
elettrovalvola (16) e serrarlo con il dado (15);

10. Infilare i cavi elettrici nell' apposito foro (B);
11. Centrare la cartuccia (6) sul tubo centrale del guscio anteriore (8). Accertarsi che il tubo                                                                         

monti  l'OR (7) in testa, che la cartuccia (6) monti l'OR (4)  sul suo perimetro e che abbia le tre 
molle di compensazione (5) nelle apposite sedi;

12. Appoggiare il guscio posteriore (3) alla cartuccia (6) appena inserita;
13. Fissare le viti M5x25 (1), M5x30 (2) e portare in appoggio il guscio posteriore (3) al guscio 

anteriore completo di tromba (8). Verificare che in chiusura l'OR (4) perimetrale alla cartuccia 
(6) non fuoriesca dal guscio (3) garantendo così la tenuta.

         1.      Drill the supporting surface of the horn (14) using the rubber mat (11) as template;
2. Unscrew the M5X25 (1) and M5x30 (2) screws ;
3. Remove the back cover (3);
4. Remove the spring (5);
5. Slip off carefully the cartridge (6) with a screwdriver at the point “C” (Tab.1);
6. Put the rubber mat (11) just next to the fixing holes previously made;
7. Put the horn housing complete with trumpet (8) on the rubber mat (11);
8. Fix the horn housing complete with trumpet (8) on the supporting surface (14) by two M5 screws 

(9) and elastic washers (10) and lock it through the self-locking nut (13) and washers (12);
9. Insert from below the rilsan tubing into the specially provided hole (A) and insert into the nut (15);
10. Insert the electric cable into the specially provided hole (B);
11. Insert carefully the cartridge (6) into the horn housing complete with trumpet (8) centring it on the 

trumpet tube end. Make sure that the trumpet tube is complete with the O-ring (7) and that the 
cartridge (6) has the O-ring (4) on the outer edge and that the three compensation springs (5) 
are located in the specially provided seats.

12. Place the back cover (3) on the inserted cartridge (6).   
13. Insert the M5x25 (1), and M5x30 (2) screws into the specially provided seats and screw them 

until the back cover (3) rests on the horn housing complete with trumpet (8). Make sure that the 
O-ring (4) of the outer edge of the cartridge (6) does not protrude from the back cover (3) 
ensuring therefore a perfect tightness.

SEQUENZA DI MONTAGGIO / WHISTLE MOUNTING SEQUENCE

SOSTITUZIONE ELETTROVALVOLA / ELECTRIC VALVE SUBSTITUTION

1. Svitare il dado sul tubo Rilsan;
2. Sfilare la forcella;
3.  Estrarre l’elettrovalvola.

1.        Unscrew the Rilsan tube nut;
2. Extract the fork;
3. Extract the electric valve.

Tab.2

6
        ©                     S.p.A.



I TE N G

SCHEMA DI MONTAGGIO / MOUNTING LAYOUT

1 3 6

11

10

9

12

1415 13A B162

54 7 8

Tab.1

C 6

2

1

3

Tab.2

7
        ©                     S.p.A.



I T E N G

GARANZIA / WARRANTY

     1. Il periodo di garanzia è di 2 anni dalla data d'acquisto come risulta dalla relativa fattura. 
2. Nel caso la fattura non fosse disponibile il periodo di garanzia di 2 anni, sarà calcolato dalla 

data di fabbricazione. 
3. La garanzia decade e s'intende nulla in caso d'utilizzazione non corretta o nel caso venissero 

ignorate le istruzioni contenute nel presente manuale.
4. La garanzia copre solamente i difetti di fabbricazione.
5. La garanzia non copre i costi connessi di installazione e smontaggio.
6. I costi di trasporto sono rimborsabili solo nel caso in cui la garanzia è stata debitamente 

riconosciuta e accettata da Marco S.p.A. Questi costi saranno limitati ai costi di spedizione tra il 
magazzino di Marco S.p.A. e la sede del cliente.

7. Nessuna nota di credito o reso sarà emessa prima di un test eseguito dal controllo di qualità di 
Marco S.p.A. che dichiari difettoso il prodotto.

1. The Warranty period is 2 years from date of purchase on production of the appropriate sales 
invoice.

2. Should the original sales invoice not be available, then the 2 year warranty period will be valid 
from date of production.

3. The Warranty becomes null and void in the case of incorrect utilization or disregard of the 
instructions contained herein.

4. The Warranty only covers original production defects.
5. The Warranty does not cover any related installation costs involved.
6. Transport costs are refundable only in the case where warranty has been duly recognized and 

accepted by Marco Spa. These costs will be limited to the actual shipment costs between 
Marco Spa warehouse and the client's delivery address.

7. No credit notes or replacement items will be issued prior to the receipt and proper testing of any 
Marco goods that are deemed faulty.

DIMENSIONI DI MASSIMA / DIMENSIONS

MIN.=450  -  MAX.=600

1
1
5

4
2

2
2

Ø
 

,
5

5

Ø
 8

1
6
5

MIN.Ø 180 - MAX.Ø 200

8
        ©                     S.p.A.



I TE N G

9
        ©                     S.p.A.



I T E N G

10
        ©                     S.p.A.



I TE N G

11
        ©                     S.p.A.

Lloyd’s
Reg i ste r

Notified Bodyatilfiorised hy fhe

CERTIFICATE OF TYPE APPROVAL

This is to certi(y that

LLOYD’S REGISTER, specified as a ‘person” under the terrns o( The Merchant Shipping (Delegation o( Equipment Approvai)
Reguiafions 1996, did undertake the reievant tpe approvai procedures o( the equipment identified beiow which was (ound
to be in comphance with the essentiai COLREG 72 requirements subject to any conditions in the Design Appraisa! Document
hereto.

Producer Marco SpA

Address Via Mameli 10
25014 Castenedolo
Brescia
itaiy

Equipment Description SHIPS SOUND SIGNAL (WHISTLE) AIR OPERATED

Type PW2

Specified Standard international Regulations (or Preventirtg Colhsions at Sea 1972, Consolidated

Edition 2002, Annex ]H, 1(a) to (d) inclusive.
EN 60945 (2002)

The attached Design Appraisal Document (orrns part o( this certificate.
This certificate rernains vaiid up to the expirv dated uniess cancelled or revoked, or until such date where it is superseded b3
the requirements o( the Marine Equiprnent Directive whichever is the earlier, provided the conditions in the attacheci
schedule are compiied with and the equipment remains satis(actory in service

Date ofissue 11 March 2016 Expiry date 10 March 2021

Certificate No. MCA 1600003 Signed

Sheet No I o( 3 Nante L. Thomas
Surveyor to Lioyd s Register EMEA
A Member of the Lloyd’s Register Group

Note:

mis certificate is not vaiid (or equipment, the design or manui’acture of which has been varied or modified (rom the specinien
tested. The rnanufacturershouid notify the norninated body named on this certificate of any modification or changes to the
equiprnent in order to obtain a vaiid Certificate.

This certificate is issued under the authority given in
Maritime & MerchantShipping Notice No MSN 1735

Coastguard (M+F) as arnended to date.
Agency

Ioyds Register Group Lim,ted, itt aff,Iiates and subsidiarìes and thei, respective oflice,s, employees or agents are, ndivdually and collectivelrye,ferred to in th,s
clause as the Lloyds Registei-. Lloyd’s Register assumensoresponsibìiity and shall not be liable to anyperson fo, any 055, damage or expensceaused by refiance On
fhe information or advice in this document or howsoeveprrovided. unfess that person has signed a contract w,th the refevant Lloyds Register enfity for the provision
of this information or advice and in that case any responsibìlity or fiabifity is excfusivefy on the terms and cond,tions set out in that contracf.

Th.~ ~~ •~•I •y~~li~I~’ ‘,‘Wg..,Iy b•N) Ih~ ~ •M ih~~~

~~



I T E N G

12
        ©                     S.p.A.

Lloyd’s Register EMEA 3

I London Desigi; Support Office Doctin,ent

I ~4 Lloyd’s 71 Feuchurcli Street, London, EOM 4BS MCA 1600003~ Register Te?ephone 020 7423 2416 Fax 020 7423 2053 IssueflUnìber

Fumi? iiied@lr.org

DESIGN APPRAISAL DOCUMENT

Da ti. Quote this reference no all future conuuunications

11 March 2016 MTES/SFS/TA/ LT! WP24449231

A~rrACHMENT TO CERTIFICATE OF TYPE APPROVAI. No. MCA 1600003

The undernoted documents have been appraised [or cornphance with the reievant Internationai Conventions and UK
legislalion [or the Tvpe Approvai o[ Marine Equipment [or use on Merchant ShipsRegistered in the United Kingdorn.

This Design Appraisai Docurnent forrns part of the Certificate that is issued under the authoritv given in the MCA Merchant
Shipping Notice No MSN 1735.

EXAMINED DOCUMENTS

LR Brescia ernail 11.03.2008

Marco letter 10.03.2008

PW2 Data Sheet, Rev 07 ~Trurnpet) 22.07.2014

TEST REPORTS

IQNet Certificate No. CH-21 294 07.02.2006

SQS Certificate No. 21294 07.02.2006

Environmentai and Vibration Test, Test Report No: AEROI5 016, Rev 0 15.09.2015

Sound PressureTest a[ter Environrnental and Vibration test, Rev 0 18.12.2015

CONDLTIONS OF CERTIFICATION

1. The PW2 whistles mai’ only be (itted to vessels greater than 12 meters but iess than 20 rnetres in iength

2. The onboard arrangernents and instailation o[ this whistle is not part o[ this certificate, all such arrangernents areto be
to the satisfaction o[ the attending surveyor

3. Each whistle is to be delivered with a copy of this cerlificate

4. instructions [or use and maintenance are to be suppiied with each whistle

5 lf the specified standards are arnended durtng the validity o!’ this certificate, this product type is to be re-approved
prior to il being supplied to vessels to which the arnended standards appiy

6. Prociuction iterns are to be rnanufactured in accordance witii a quaiih contro! system which sbali be maintained to
ensure compliance with SOLAS Regulation 111/5

7. Production tests are to be conducted in accordance with the applicable requirements o!’ IMO Resolution MSC,81(70),
Part 2 and each item, batch, or Iot be dehvered with an LR Certificate o!’ SOLAS Production Testing issued by the
attending LR Surveyors [oilowing their witness o!’ the testa This does not preclude any [urther testi.ng to additionai
requirements of the Marine Administration ot the country where the ship is registered (i.e, the tlag state) or those
acting on behal[o[that Administration

8. Shouid a change o!’ Piace o!’ Production !‘rom that stated beiow be required i.e. where the stages o[
rnanu(acture/assembly/testing o!’ this product take piace, the new Piace o!’ Production Is to be advised to us prior to
the change taking piace. This Certificate wiil require to be updated (or Approvai to be maintained

Lloyds Register Group Limiled, ‘IS affiliates and subsidiaries andtheir respectìve officers, empfoyees oragents ere, ndividually and collectivelrye,ferred to in this clause
as the ‘Lloyds Register. Lloyds Register assumes no responsibility and shall not be liable to any personfo, an bis damage or expense caused b reliance on the
information or advice in this document or howsoevep,rovided, unless that person hai
this information or advice and in that case any responsib.lity or liability i exclusively on the te,ms and conditions set out in that contract.



13
        ©                     S.p.A.

I TE N G

Lloyd’s Register EMEA 3

London Design Support Office Documeni nun~ber

Lloyd’s 71 Fenchiircls Street, Loiidon, EC3M 4BS MCA 1600003

Register Teleplione 020 7423 2416 Fax 020 7423 2053 ISsIIeIluiflber

Eniailnied@lr.org

DESIGN APPRAISAL DOCUMENT

Date Quote thisreference or, all future conrniunications

11 March 2016 MTES/SFS/TA/ LT/ WP24449231

ArrACI-IMENT TO CERTIFICATE OFTYPE APPROVAL No. MCA 1600003

PLACE OF PRODUCTION

Marco SpA
Via Mameli 10
25014 Castenedolo
Brescia
Italy

/4R~I$I~f3ZL a~t

Lijo Thonias

Senior Specialist
Statutory Fire & Safetv
Marine Technology and Engineering Services
Lloyd’s Register EMEA

Lloyds Register Group Limited, its affiliates and subsìdiarìes and theirrespeclive ofhcers, employees or agents are, ìndivdually and collect,vely. referred to n th,sclause
as the ‘Lloyds Regisler. Lloyd’s Registearssumes no responsibility and shall noi be liable to any person for any 055, damage or expense caused by,reliance on the
informalion oradvice in this documeni or howsoever provided, unless that person has~
thìs information or advìce and in that case any responsibility or Iiability 5 exclusively on the terms and condit,ons set out in thatcontract.



I T E N G

14
        ©                     S.p.A.



I TE N G

15
        ©                     S.p.A.



I T E N G

16
        ©                     S.p.A.

BSH
Az.: 4615/6023034116

Marco BUNDESAMT FUR
Via Mameli 10 SEESCHIFFFAHRT
25014 CASTENEDOLO Brescia UND
Italien HYDROGRAPHIE

lhr Antrag auf Baumusterprùfung von Navigationsausrùstung vom 12.04.2016 Hamburg,
Your application for type examination of navigation equipmendt ated12.04.2016 19.04.2016

Bescheid ùber die Anerkennung der nationalen Zulassung eines
E1J-Mitgiiedstaates
Notification of accoptance of a nationa! type approvai of a EU memberstate

Sehr geehrte Damen und Herren,
Dear Madam and Si,-,

fùr dio Navigations Ausrùstung mit der Bezeichnung PW2, PW3
Far the navigation equip,nent with the type designation PW2, PW3

wird diomit anliegendem Zertifikat Nr. MCAI600002, MCAI 600003
the approvagi ranted with attached certificate no. MCA 1600002, MCA 1600003

fùr MCA(UK) ausgesprocheneZulassung vom Bundesamt for Seeschifffahrt und
Hydrographie (BSH)for die Anwendung aufSchiffenunter Deutscher Flaggeakzeptiert.
WiIi be accepted by the Federa!Maritimeand Hydrographic Agency (BSH) far the use c’ti
german flag vesseis.

Bedingungen
Conditions

Diese Anerkennung erlischt bei Fristablauf, Rùcknahme oder Widerruf. Der Widerruf kann
ausgesprochen werden, wenn dio serienrnàfSig gefertigten nautischen Ausrùstungsgegenstànde
nicht mii dem zugelasseneBnaumuster ùbereinstimmen.
This acceptance expires afte, iapse of tirne~ withdrawai or revocation. A ~evooation may te ordered if navigetiona!
equipment manufactured in sedaipmduction IS not In comphance with the type—tested proloiype.

Auflagen
Obiigations

Der Hersteller oder sein bevolIm~chtigter Vertreter hai sicherzustellen, dass alle auf Grund
dieses Bescheids gefertigten nautischen Ausrùstungsgegenstande mit den geprùften
Unterlagen und mit dem Baumuster Obereinstimmen.
The rnanufacturer or his authodzed ~epresentative has to ensurethat navigationai equipment manufactured on the basis
of this accoptanco, Is in compliance with The approveddocumentation ami the type-opproved prototype,

Jeder serienmàBig auf Grund dieses Bescheids gefertigte Bestandteil des nautischen
Ausrustungsgegenstandes muss an gut sichtbarer Stelleund in dauerhafter Form mii der
Ger~tebeschriftunegntsprechend der europ~ischen Norm EN 60945 gekennzeichnet sein und
darf rnit der Baumusternummer (Nummer der Baumusterprofbescheinigung) versehenwerden.
Ausgenommen davon sind Bauteile, dio in der unter Wasser liegenden AuBenhaut des Schiffes
eingebauwt erden.
Every navigationai equlpment cornponent which Is produced in sedes on the basis of ttiIs acceptance must te marked
pennanentiy ami vislbly wìth the equiprnenl identit7cation according to the eumpean standard EN 60945 type and may te
ma,ked with the approvai number (number or the type approvai ceitiricate). This does not appiy io components instalied
in the vessei’s outside piating beiow the watertine



I TE N G

17
        ©                     S.p.A.

Der Hersteller oder sein bevollmàchtig(er Vertreter hat den vom Bundesamt fùr Seeschifffahrt und
Hydrographie betrauten Personen zu gestatten, durch stichprobenarti9e Nachprùfungen
festzustellen, ob serienmàfMg hergesteflte Ausrùstungsgegenstànde dern geprùften Baumuster
entsprechen. Das Bundesamt for Seeschifffahrt und Hydrographie kann zu diesem Zweck beim
Hersteller oderseinem bevollmachtigtenVertreter Proben anfordern oder entnehrnen.
The manufaciureorr his autho,ized representet!ve has te 31/0w te personsauthodzed by the Federa? Mahtéme and
Hydrographìc Agency Io takerandom samples fo prove whetherequipmenml anufactured in setialproduction Is in
complience with the typo-approved pmtotype. Therefore, the Federa! Mafitime ami Hy&ographic Agency maytake or
domandsamplcs fromthe menufacturer or his authodzerdepresentative,

Es wird empfohlen, jedem ausgeliefertenAusrùstungsgegenstand eine vollstàndige Kopie der
Anerkennung beizufùgen.
li Is ,ecommended the? a completecopyor the admission cedificate Is pro vided witheach equipment delivery.

Hinweise
remadcs

Das Bundesamt fùr Seeschifffahrt und Hydrographie behàlt sich vor, weitere Auflagen zu
erteilen.
The Federa? MafltimeandHydragraphic Agency ,eserves the flght fo impose edditionel obligations.

Rechtsbehelfsbelehrung
Noticeon lega? remedies available

Gegen diesen Bescheid kann innerhalb eines Fvlonats nach Bekanntgabe Widersprucherhoben
werden. Der Widerspruch ist beim Bundesamt (Or Seeschifffahrt und Hydrographie, Bernhard
Nocht-Str. 78, 20359 Hamburg,schriftlichoder zur Niederschrift einzulegen.1
Objection fo ffiis documenm! ay be fi/edwithin one month after notification, The objec!ionmusi bofded in wdting te, orpui
on mcor~ at, Federa! Mafifime and !lydrographic Agency, 8emha,d~Nocht-Str. 78. 20359 Humbnrg, Germuny.

AnIaQe(n) Baumusterprùfbescheinigung Nr. MCAI 600002, MCAI 600003
Gebùhrenbescheid 790056064143

Attachment(s) Type examination certificate no. MCA 1600002, MCA 1600003
Invoice 790056064143

Mit freund~ichen GrOBen

mi Auftrag

Doreen Thoma

Der deutsche Text ist verbind!ich.
The gemrnn text Is aufhentic.



 

 

DICHIARAZIONE DI CONFORMITA’  

DECLARATION OF CONFORMITY  

 
Confermiamo che il prodotto 

We confirm that the product 

 

150 004 13 PW2-2BC  24V 

2 Fischi ad aria "Blitz" cromati ø200 

2 Pneumatic Whistle "Blitz" chromed ø200 

 

 

È conforme alle norme RINA per l’Omologazione di Tipo secondo quanto prescritto dalla Colreg 1972, 

Allegato III e dal DECRETO 5 settembre 1990, n.421 concernente la sistemazione dei fanali e le 

caratteristiche degli apparecchi di segnalazione sonora sulle unità da diporto di lunghezza ≤  50 metri.   

 

Is in conformity with the RINA Type Approval  as per the Colreg 1972, Annex III and meets the Italian DL  

n.421 of the 5th of September 1990, concerning the installation of lights and the features of the sound 

signal devices on pleasure boats with length ≤ 50 meters.  

 

   

  
  

  

 
   

25014  CASTENEDOLO  Brescia  (ITALY)  -  Via Mameli,  10 - Tel.  +39 030 2134.1 -  Fax +39 030 2134.300 
      E-mail: marco@marco.it  –  http://www.marco.it  

I T E N G

18
        ©                     S.p.A.

150 004 12 PW2-2BC  12V 



I TE N G

NOTE / NOTES

19
        ©                     S.p.A.



Questo documento e' proprieta' di Marco S.p.A la riproduzione e l'uso sono vietati. 
Tutti i diritti sono riservati.

Per ulteriori informazioni vedere nostro sito internet - www.marco.it
Marco S.p.A Via Mameli 10 - 25014 Castenedolo (Brescia) – Italia

tel. +39 030 2134.1 / Fax +39 030 2134.300

Property of MARCO S.p.A reproduction prohibited. All rights reserved.
For further information visit our web site - www.marco.it

Marco S.p.A Via Mameli 10 - 25014 Castenedolo (Brescia) – Italy
tel. +39 030 2134.1 / Fax +39 030 2134.300


	Pagina 1
	Pagina 2
	Pagina 3
	Pagina 4
	Pagina 5
	Pagina 6
	Pagina 7
	Pagina 8
	Pagina 9
	Pagina 10
	Pagina 11
	Pagina 12
	Pagina 13
	Pagina 14
	Pagina 15
	Pagina 16
	Pagina 17
	Pagina 18
	Pagina 19
	Pagina 20

